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K= 4 21 2 706 123 565 20 1 1,438 1,391 103.4 14,446 14,541 99.3
A H 127 1 266 394 360 109.4 3,554 3,705 95.9
H g 4 262 43 150 5 464 450  103.1 4,144 4100 101.1
VA 1 100 7 38 3 149 129 1155 1,279 1,264 101.2
AR 7 102 109 110 99.1 1,183 1,038 1140
SUBARU 1 194 15 210 182 1154 2,189 2,031 107.8
HAINY 21 1 22 19[ 1158 198 190 104.2
=7 1 57 2 14 2 15 91 88| 103.4 784 797 98.4
AN 55 1 37 1 21 115 125 92.0 1,069 1,076 99.3
EE5; 31 5 4 18 58 47 1234 605 557| 108.6
=ESTED 48 1 30 11 90 771 116.9 747 757 98.7
UDKZ 77 A 10 5 15 12[ 1250 163 149 109.4
& D [E] PE 5 1 15 31 52 50| 104.0 271 297 91.2
i) A H 17 154 6 39 1 2 219 238 92.0 2,226 2,275 97.8
&t (E) 194 9 1,608 253 1,211 0 102 49 3,426 3278 1045| 32,858 32,777 100.2
ATAER A 5 (F) 169 14 1,435 274 1,262 78 46 3,278
Wt E/F %| 1148 64.3 112.1 92.3 96.0 130.8 106.5 104.5
A A (G) 189 16 1,469 253 1,157 90 36 3,210
Wt E/G%| 1026 56.3 109.5 100.0 104.7 113.3 136.1 106.7
LA DD BE (1) 1,767 136 15,258 2,379 12,242 838 238 32,858
ARG (1) 1,775 141 14,493 2,371 12,977 2 768 250| 32,777
F e H/T% 99.5 96.5 105.3 100.3 94.3 109.1 95.2 100.2




